
1-7 86 71 57 43 29 14 0

Ex) 14 - 8 = 14 - 4 - 4

10 - 4 = 6

1) 13 - 5 = 13 - 3 - 2

10 - 2 = 8

2) 15 - 6 = 15 - 5 - 1

10 - 1 = 9

3) 12 - 3 = 12 - 2 - 1

10 - 1 = 9

4) 12 - 6 = 12 - 2 - 4

10 - 4 = 6

5) 11 - 8 = 11 - 1 - 7

10 - 7 = 3

6) 14 - 9 = 14 - 4 - 5

10 - 5 = 5

7) 14 - 5 = 14 - 4 - 1

10 - 1 = 9

Ex. 4 4
4 6

1. 3 2
2 8

2. 5 1
1 9

3. 2 1
1 9

4. 2 4
4 6

5. 1 7
7 3

6. 4 5
5 5

7. 4 1
1 9

     

Create tens to solve the problems.

Creating Tens (Subtraction)

Math www.CommonCoreSheets.com

Name:

Answers

koa5



1-7 86 71 57 43 29 14 0

Ex) 14 - 8 = 14 - 4 - 4

10 - 4 = 6

1) 13 - 5 = 13 - 3 - 2

10 - 2 = 8

2) 15 - 6 = 15 - 5 - 1

10 - 1 = 9

3) 12 - 3 = 12 - 2 - 1

10 - 1 = 9

4) 12 - 6 = 12 - 2 - 4

10 - 4 = 6

5) 11 - 8 = 11 - 1 - 7

10 - 7 = 3

6) 14 - 9 = 14 - 4 - 5

10 - 5 = 5

7) 14 - 5 = 14 - 4 - 1

10 - 1 = 9

Ex. 4 4
4 6

1. 3 2
2 8

2. 5 1
1 9

3. 2 1
1 9

4. 2 4
4 6

5. 1 7
7 3

6. 4 5
5 5

7. 4 1
1 9

     

Create tens to solve the problems.

Creating Tens (Subtraction)

Math www.CommonCoreSheets.com

Name:

Answers

koa5

Answer Key


	Worksheet
	Answer Key

